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Abstract

A couple of mistakes made by Mr. Elio Fabri in the Italian Google
group "Scienza Fisica" are corrected. The first concerns the calculation of
an integral which, according to Mr. Fabri, had to be null, showing that,
instead, it was anything but null. The second concerns an error repeated
several times by Mr. Fabri according to which the Riemann tensor calcu-
lated in the Langevin spacetime would still be null. Unfortunately, a sad
truth emerges: what is really zero is Mr. Fabri’s understanding of what
he is saying.

1 The null integral which was not null

In a discussion in the Italian Google group "Scienza Fisica" [2], Mr. Fabri claims
that, setting V (r) = —%, it should be null for every value of k the value of Eq.
(9) in [2], that is
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By inserting the second of Eq. (2) in Eq. (1) one apparently gets
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Thus, it seems that Mr. Fabri is correct in his claim that Eq. (1) is null for every
value of k. Mr. Fabri was indeed so sure of the correctness of his computation
that claims in very arrogant way that, verbatim, [2] “The decisive formula is (9)
(Eq. (2) in the current paper), but I would recommend reconstructing the steps
that lead there and seem simple to me. I applied it with V(r) = —k/r and the
result is zero, for any k. There are no quibbles that can disprove that result,
which however, I repeat, it is not mine. I just limited myself to understanding
it.” Differently from Mr. Fabri, I understood that, actually, Eq. (2) is NOT null
if one sets V(r) = —& for every value of k. In fact, Mr. Fabri did not realize a
very subtle point. The vector d‘gg”an where 1, is the unit vector in the radial
direction, has the same direction of @,. But the direction of 4, for —5 < ¢ < §

is opposite with respect to the direction of i, for 7 < ¢ < 37 This means that
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if one assumes to be positive the sign of

assume as being negative the sign of d‘gy) for T <p < 37” Thus, the correct
way to compute Eq. (1) setting V(r) = —% is
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I have to also recall that Mr. Fabri insulted me in this conversation by writing
that, verbatim, [2] “I decided to do an exercise of great patience (and it weighs
me down, because patience is not the foremost among my virtues). I'll pretend
I read a post whose author is a student of the second year of physics, and not
even that smart (remember the famous Berlusconi’s joke about Italian voters?)”.
Now, what Berlusconi said about Italian voters was that they are not so moron as
to go against their interest. Thus, Mr. Fabri implicitly said that I am a moron.
Instead, there are two very evident facts which emerge from the above analysis.
i) What was null was not the quoted integral, but Mr. Fabri’s understanding of
how it was to be calculated. ii) To recognize a moron you need an even bigger
moron.

2 The null Riemann tensor which was not null

Mr. Fabri claims [3] to have shown in [4] that the Riemann tensor for the
Langevin metric, which is [5]
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is null. T don’t have the time or the inclination to go and look for Mr. Fabri’s
mistakes in [4] because I have decidedly more interesting things to deal with.
However, proving that the Riemann tensor in the Langevin metric (5) is not null
is quite simple. Let us assume a weak field approximation, which is wr < c.
Then, the relation between goo and the Newtonian potential U is [5]
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which gives
1
U= —57"20.)2, (7)

for the Langevin metric (5). In the weak field approximation one also recall
that it is [6]
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Thus, setting for example i = j = r, one gets immediately
2
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which dismisses Mr. Fabri’s claims in a definitive way.

Conclusion remarks

A couple of mistakes made by Mr. Fabri in [1, 3, 4] have been corrected. The
first concerns the calculation of an integral which, according to Mr. Fabri, had
to be null, showing that, instead, it was anything but null. The second concerns
an error repeated several times by Mr. Fabri according to which the Riemann
tensor calculated in the Langevin spacetime would still be null. Hence, a sad
truth emerged: what is really null is Mr. Fabri’s understanding of what he is
saying.
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